6 7 18
( )-1 -1
()-1
3,730, 000 17,500 /
1
(1) 6 7 1 |(9 6 7 16 (6) 6 ] !
1.1
(2 6 6 20 |(5)
(3
2
(1 213
)] (
()
( 60, 200)
1:1.5 6.1m ( )
2 900m ( 70, 200)
(2 50 50 20 30
10 20 200
)
900m (70, 200)
(3 (4) 0.0
5 17,500 /
/
/
/
(6)
(7
(8) - [ 0.0 -0.1
0.0 -0.4
-1 (1) 0.0 +3.0
[ 99.5]| 100 | 100 |[ 100.0] 17 500 +g'8 8‘8
18,700 / 100 |[ 104.0]|[ 102.5]| 100 ' 0.0 '
(9 0.0 -1.5
0.0 -3.3
( )-3 (1) 0.0 -18.0
[ 98.6 ]| 100 100 |[ 100.0] 17 200 +g'8 8‘8
14,200 | 100 |[ 104.0]|[ 78.1]| 100 : 0.0 '
(10) -1
- ]
17,700 /
-2
1 1
/
-1.1 ]




6 7 17
( )-2 -1
()-2
3, 760, 000 10,100 /
1
€) 6 7 1 (4 6 7 10 O] 6 11 /
11
(2 6 6 15 |(5)
(3
2
() 372
()| (
()
( 60, 200 )
1:1.5 6m ( )
2 600m
(2 100 50 50 20
17.5 20 350
()
600m (60, 200)
3 (4) +4.0
5 10,100 /
/
/
/
(6)
(7)
(8) &) - 0.0 +0.2
0.0 +1.7
-3 (1) 0.0 +38.0
[ 100.0]| 100 100 |[ 104.0] 10,000 +§'8 8'8
13,800 / 100 |[ 102.0]|[ 140.6]| 100 ' 0.0 '
(9
Cr)
[ ]| 100 100 [ ]
/ 100 [ il 1| 100
(10) -1
- (]
10,100 /
-2
1 (|
/
0.0 |




()-3 1
()-3
4, 260, 000 14,000 /
1
(1) 6 7 1 (4 6 7 16 ©) ° /
11
2 6 6 20 |(5
(3
2
o 304
()] ( )
()
( 60, 200)
151 4.6m ( )
X 1km ( 60, 184 )
2 100 30 50 10
20 15 300
‘ ‘ ()
1km 1( 60, 184)
© 14,000 /
/
/
/
(6)
(7
T = - 0.0 +1.4
0.0 0.0
_2 (1) 0.0 15,0
+2.0 0.0
[ 99.6 ]| 100 100 [ 104.0]
11,800 / 100 |[102.0]|[ 86.2]| 100 13,500 8'8 00
(9
7))
[ 1l 100 100 | ]
/ 100 | il 11 100
(10) -1
|| (|
14,200 |
2
(] (]
/
-1.4 |




)-4

7 18

(

)-4

685, 000

2,180

/

(1)

1 14

16

(6) |1

(2)

20 | (5)

11

(3

(1)

314

121

am

7. 6km

(2

30

10 30

100

20

15

300

7. 6km

(3

(5

2,180 /

(4

(6)

@)

(8)

100

100 |

100 |

1| 100

(9

100

100 |

100 |[

1l 100

(10)

2,210 /

-1.4




)-5

7 18

(

)-5

1, 270, 000

2,310

/

(1)

1 14

7 10 (6)1

(2)

15 [(5)

11

(3

(1)

550

151

11m

8km

(2

60

80

130

25

20

500

8km

(3

(5

2,310 /

(4

0.0

(6)

@)

(8)

100

100 |

100

1| 100

(9

100

100 |

100

1l 100

(10)

2,340 |/

-1.3




6 7 17
( )-6 -1
( )-6
3,220, 000 14,500 |
1
(1) 6 7 1 (4 s 7 1 o 6 1] ]
11
2 6 6 15 (5
(3
2
() 222
()
()
( 60, 200 )
8.1m ( )
1.1 3 1km
2 0 20 50 40
15 17 250
()
1km (60, 200)
(3 (4) +2.0
- 14,500 | 0.0
/
/
/
(6)
(7
/)
[ 1| 100 100 | ]
/ 100 | [ 1| 200
(9 0.0 -4.4
0.0 2.9
( )-3 (1) 0.0 2.0
[ 98.6]| 100 100 |[ 102.0] 14 700 +g'8 '(1)'8
14,200 100 |[104.0][ 93.7]| 100 ! oo '
(10) -1
- (]
14,700/
2
1 (|
/
-1.4 ]




6 7 18
( )51 -1
( )51
5, 770, 000 19,700 /
1
(1) 6 7 1 |(4 6 7 16 (6) 6 11 !
1.1
(2) 6 6 20 (5)
(3
2
(D 293
()
()
( 80, 200)
1:3.5 16m ( )
(2 60 30 100 50
9 3.5 300
)
1. 2km 1( 190, 200 )
(3 (4
19,700 /
(5)
/
/
/
(6)
(7)
(8) [ 0.0 0.0
0.0 +2.7
51 ( 1) 0.0 +2.0
[ 99.0]| 100 100 |[ 100.0] 19. 400 8'8 8'8
20,500 / 100 |[ 100.0]|[ 104.8]| 100 ' 0.0 :
(9
7))
[ 1/ 100 100 || ]
/ 100 [ 110 100
(10)
- (]
20,100 /
] (|
/
-20 |




